NTHERADER(BFRREFH
3F—-4R—-3E—-AiE A =]
K4
1) ROFHEZELESL, (2R X10%)

1) 6x(3x+5y) 2) —2x(x—2y+1)
3) (14x2y+6xy)+(—2xy) 4) (1.5a2b+0. 5ab+a)+(—0. 5a)
5) %X(X+2y) 6) 4a2+2ab+a(a—3b)
1 1 1 1
7) (5m+3n)(2p+3q) 8) ( §X + Zy )( §X - Ey )

9) (6a+3b)(3c+d—>5) 10) 2x(x+2y)+3x(x—3y)



NTHERADER(BFRREIFH
3F—48—38—KIg A =]
K4
2) ROFEZELGED, (2R X108

1) (1. 6a°b+0. 8ab°—1. 2ab)+2ab  2) 3y(x+5y)

3) 6x( Jx+3y—1 ) 4) —(10cd’+15cd)+5¢d
5) 7c(2c+d) 6) (a+2b)(a—2b—1)
7) x(2x—5y)—3x2+6xy 8) —3a(a—5b)+2a(2a—4b)

1 3 1 2
9) ( Ja -~ gb )( il §b ) 10) (4a+b)(3c—2d)



NTHERADER(BFRREIFH
3%F—48—3:8—KIg A =]
K4
3) ROEHEZELGED, (2R X108

1) Ix(x—2y) 2) —5x(x+2y—6)

3) 2 1xy=1.4xy)+(=0.7xy) 4 12x(Gx—2y)

5) 9x(x+2y)—7x(x+4y) 6) ( ‘ga - %b ¢ %a — %b )

7) —a(a—3b—6)—2a°+5ab—3a 8) (2x—y)(3x+2y—5)

9) (5a+2b)(4c—7d) 10) (10x+7y)(x—3y)



NTHERADER(BFRREIFH
3F—4A—-38—KIE A =]
K4
4) ROFEZELGED, (2R X108

1) 6x(x—2y) 2) —%x(6x+9y)

3) (1. 8x3y—1. 2x2y+2. 7xy)+(—3xy) 4) 8a(a+b)

5) —8a(5a+3b)—7a(3a—5b) 6) (8x+3y)(2a+9b)

7 (gX — 2y )(@x+y) 8) (9a—4ab)(a+3b)

9) (1.5a+1. 1b)(2a+3b) 10) (6m—5n)(Bm+7n+2)



NTHERADER(BFRREIFH
3F—4A-3E &g A =]
K4
5) ROFEZELESL, (2R X10%)

1) —3a(a—4b) 2) (—12a’b’+18ab)+(—9ab)

3) (2.2a°b°+4.4ab)+11a’b’  4) 2a(2a+3b)

5) %x(2x+4y)—%x(9x—6y) 6) (7a+3b)(4c—d)

7)  (x—y)(0.9x—0. 8y+0. 3) 8) (3a+7b)(3—6b—a)

9) (4x—3y)( X — v ) 100 (10y—x)(y+9x)



NTHERADER(BFRREFH
3F—-4R—-38
1) RAlE—ME 2R x108) A B

1) 18x°+30xy 2) —2x +4xy—2x 3) —7x—3 4) —3a—b—2

2

5) %x +%xy 6) 5a2—ab 7) 10mp+15mg+6np+9nq

8) 1§x2—11—2xy—%y2 9) 18ac+6ad—30a+9bc+3bd—15b

10) 5x2—5xy

2) KRE—M@E (2R X108 A B

1) 0.8a+0. 4b—0.6 2) 3xy+15y° 3) 3x +2xy—x 4) —2d—3

5) 14c°+7cd 6) a-—a—2b—4b-  7) —x +xy

2 29

—%ab+§b2 10) 12ac—8ad+3bc—2bd

8) a2+7ab 9) %a

3) KE—M@E (2R X108 A B

1) 9x2—18xy 2) —5x2—10xy+30x 3) —3x+2y 4) 3x2—20xy
2 1 2 5 1,2 2

5) 2x —10xy 6) 1g@ —ﬂab+§b 7) —3a +8ab+3a

8) 6x2+xy—10x+5y—2y2 9) 20ac—35ad+8bc—14bd

10) 10x°—23xy—21y>



NTHERADER(BFRREIFH
3F—-4R—-38

4) KE—RE (2Rx10%#) A B

1) 6x°—12xy  2) —2x°—3xy 3) 0.6x 40. 4x—0. 9
4) 8a2+8ab 5) —61a2+11ab 6) 16ax+72bx+6ay+27by
7 gxz—%xy—f;y2 8) 9a°—31ab—12b° 9) 3a°+6. 7ab+3. 3b

10) 18m2+27mn+12m—10n—35n2

5) &E—ME (2R X108 A B

1) —3a°+12ab  2) gab—z 3) 0.2a+0. 4b

4) 4a°+6ab 5) —2x°+4xy 6) 28ac—7ad+12bc—3bd

7) 0.9x°—1. 7xy+0. 3x—0. 3y+0. 8y° 8) —3a —25ab+9a+21b—42b°

9) gxz—Sxy+§y2 10) —9x2+89xy+10y2



